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H 71 A7|. HfAHM vs GSZEHA (=9, 2019.11.28, 19:00~21:03)

» =2 7|E Hln
e Ealt] Vs GsZE A
87H No Block 671
2770 7 174 1 Block 3570 / 07K
10871 / 974 2 Block 967 / 774
174 7 07H 3 Block 87 / 274
f22Y o ¥ Al M4/ 43 s
> UE ME ME Al &0 2270 2 347|5 Hln
e 34 Vs GsZE A 37
278 7 171(50.0%) No Block 370 7 170(33.3%)
2570 /7 87H(32.0%) 1 Block 1870 /7 67H(33.3%)
8170 /7 2871(34.6%) 2 Block 937H / 387H(40.9%)
87 / 270(25.0%) 3 Block 17 / 17H(100.0%)
*SAMNE /85 (838)
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E AE %3 AlZERE ol =42
MIET 2| 18(31.0%) 16(27.6%) 5(08.6%) 1(01.7%) 2(03.4%) 16(27.6%)
ME =2 35(60.3%) 16(27.6%) 6(10.3%) 1(01.7%) 0(00.0%) 0(00.0%)
oA 53(45.7%) 32(27.6%) 11(09.5%) 2(01.7%) 2(01.7%) 16(13.8%)
* BANE (BHEEHB)
> GSZEA
E AE %3 AlZERE ol =42
MIET 2| 21(37.5%) 12(21.4%) 5(08.9%) 3(05.4%) 1(01.8%) 14(25.0%)
MNEZ2| 42(71.2%) 9(15.3%) 2(03.4%) 2(03.4%) 3(05.1%) 1(01.7%)
oA 63(54.8%) 21(18.3%) 7(06.1%) 5(04.3%) 4(03.5%) 15(13.0%)
*SANE (SHZEH )
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H 71 7). HHAY vs GSEHE A (¥, 2019.11.28, 19:00~21:03)
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o 2y &3 s b B7l%= | SHME HAHE sus s3 =k =as A%
1 GSZHA 25 8 2 10 28 12 2333 936 814 1.150 15
2 e Fak= 19 7 3 10 23 16 1438 855 847 1.009 11f
3 a4y 18 5 5 10 22 18 1.222 907 815 1.113 11f
4 KGCRI&S A 1 5 5 10 21 25 0.840 956 1,003 0.953 25
5 St 2T A 1 3 7 10 15 23 0.652 801 861 0.930 25
6 IBK7| 22 6 2 8 10 13 28 0.464 801 916 0.874 3mf
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